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91.

82,

93.

94,

SECTION - III(b) ~ ¥T - III(b)
SOCIAL STUDIES / BT eqa
There are 60 questions in all in this Section. All questions are compulsory.
79 UM B Fe 60 WH £\t wy wfend §

King Harshavardhana's capital was at

(Al Prayag IB] Hannauj

(C]  Ujjain (D) -Pata]iputra.
TN wHaHA Ft e o

&) A B) e

(€ T D) wefag o
Kailash temple at Ellora was built by the

()  Chalukyas [B) Cholas

[T} Pallavas [0} Rashirakutas.
THA 1 Fern wfgr w Fto e oo

W =gt g (B) = g

(€ eerEl g (D) TEFS gw |
How many wings does a village panchayat have 7

VR | B 2

<y 3 oy 4.

T A % e v ¥ 2

A) 1 B 2

i 3 o 4.

The head of a Municipal Committee is known as

(a) Councillor (B) Mayor

(C) Collector (D) Chairperson.
R A T ST e

W T B FH
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95. The village court is called
(4} Gram Sabha (B) Nyaya Panchayat
(C) Gram Panchayat (D) Gram Adalat.
Y ETgTeTd weend &
(&) IE A (B) =™ Y=TEd
(C) oMW ¥=mEw (D) W e |
96. How many states does India have 7
(A) 29 B 28
(<) 27 D) 26.
ur ¥ el @t wen fea € 2
A 29 (B} 28
) 27 (D) 26.
97. Who founded the Arya Samaj ?
(A) Swami Dayanand (B) Shankaracharya
(C) Swami Vivekananda (D) Raja Rammohan Roy.
A warE w1 e e oo 7
@ T Tar B) viwTEr
(€ w&nh fadEes (D) TN TwHEA TE
98. On whose advice is the State Council of Ministers appointed ?
Fet] Governor (B) Pﬁme Minister
(C} President (D] Vice-Presidenl.
e gas W e s fgfs et & 7
(&) T (B) WuEHHA
[c) Tufa (D) TwEafa |
99. Who was the founder of the Mauryan empire ?
(&) Ashoka (B} Bindusara
(C) Chandragupta (D) Pushyamitra.
o AR o1 HeTYeh Wi o1 ?
(A) e B fagEr
€ == (D) g=HHA |
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100. Fa Hien visited India during -the reign of

(%)  Harshavardhana (B) Ashoka

() Chandragupta 11 (D) none of them.

e e IRAEE & SR YA 1 2R e a2

(A} THEER (B) T

() == T (D) ¥ & =E & |
101. Which state was the first to establish the Panchayati Raj institutions ?

(&)  Rajasthan (B] Maharashtra

(C) Bihar (D) Uttar Pradesh.

T T wened w1 i wdvem faw oo 3 e o 2

(A) TR (B) WEWE

c) faww (D) & W29 |

102. Constitutional Government means
Al Govt. according to the terms of the constitution
(Bl Govt. based on the rule of law
(C) Democratic govt.
(D) all of these.
ot T W oad

(A) wHfEur st ol % SEER wE (B) A F ATAR WHH
(C) AR T (D) 78 || |
103. "Panchsheel” was signed between
(&) Nehru and Chou En-lai [B)] Nehru and Mandela
(C) Gandhiand Chou En-lai (D) Gandhi and Mandela.
"gayital’ T EEAT I o .
@A) e o we-eE F e B) “wE AR uEw ¥ &=
i) Tt afT =t w-wE W | (D) it s wEen & = |
104. When was the Constitution of India finally signed by the members of the Constituent
Asgembly ? :
i)  26th November, 1949 (B) 24th January, 1950
[C)  26th January. 1950 (D) 28th February, 1950.
HiauH w9 F. 5wl g0 9iA % Ofaym W sq § w9 sEen g w !
[A) 26 7E®, 1949 (B} 24 99F11, 1950
(C) 26 w==d, 1950 (D) 28 w&d, 1950.

38 |



JAGRAN

UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011

105,

106.

107.

108,

109,

110.

Who was the head of the Constituent Assembly ?

) B.R. Ambedkar B) B.N. Rao

() J.L. Nehru ) V. Patel.

HiGYE T &1 WY S o9 ?

(A} Weo¥Ro sT=E=EHT (B) HloTHAe ITE

[C) Foude dos (D) =fe 9&d |

The anclent name of Assam is

{A) Pawa (B) Kamrup

(C) Pippalivan (D) Ramgram.

FEH T U AH R

(a) T B) wFEEY

(C) Taoer== (D) THOE |

Dilwara temples are examples of

(A) Jain architecture (B2} Buddhist architecture
(C) Mughal architecture (DY) Sultanate architecture.
TeeETgT AfET Fgms €

(A) 9 I F (B) g T &

(C) e O (D) HoaTg =Y F )
Chanakya was also known as

tA) Bhattasvamin (B) Rajsekhara

[C) Vishnugupta (D) Visakhadatta.
=0T w fFE AW | ot s s # 2

(a)  wzEETH (B) IToEER

(€) TEwrE (D) favmEEw |

Who is NOT associated with medicine ?

() Dhanwvantari (B3] Bhaskaracharva
(C) Charaka (D) Susruta.

safy 4 fFoem dey =T & 2

(A s B)  ERIEE

(C) == Dy 9 1

The President of India can be removed from his/her office by the
{Aa) Prime Minister (B) Supreme Court
i) Chief Election Commissioner (I Parliament.

AA o UEWfd ®1 IEF S § g2 W e

&) wuEHEE g (B) T==a9 =Hmaerd gl
([C) HEA TAE G 5 (D) S g
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111. The first nuclear test in India took place in 1947. What was it called 7

(A)  Shaktil (B) Tornado
[C) Chagai (D)  Smiling Buddha.
v F wam sofas v 1947 F genm o | T8 W T § S o & 2
() wfE I B =S
i) = (D) & gL 9% |
112, .'Shakunta.lan:t' was written by
(A)  Kalidas (B) Bhasa
(C}) HKamban ()  Asvaghosha.
‘e frd &
(A e A B 9=
[C) A A (D) FEEE A |
113. In the Third Battle of Panipat, the Marathas were defeated by
A Mughals (B] - Afghans
(C) English (D) Sikhs.
aHgE = ded TeE § gusl w5 ofea e oo
@ T A (B) ST
(C) FPR=T A (D) feerdi A
114. Who said "Swaraj is my birthright" ?
(A) | Bal Gangadhar Tilak [B] Nelaji Subhas Chandra Bose
(C) Dadabhai Naorofi (D) Lala Lajpat Rai.
fore we1 ' e 90 wiae AfgErt § 7
(&) == TR e (B) Harsl W == |H
© wrETE et (D) e AEE T |
115. Rana Sanga is related to
&) Malwa (B) Khajuraho
(C} Mewar (D)  Mandu.
Tron wi Hefi ¥
(A) HTET @ (B) U |

‘©)  Harz R D "vEd
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117.

118,

119,

120,

Kanishka started the Shaka era in
A}  AD B2 B AD7S8

() AD&2 (D) AD 88

W& HA Bl JEAW Hireh § = of

&) 623 # B 78%:

C 82%H D), 88%c#H |

Who was the first British Governor-General of India ?

(&)  Dalhousie (B) Hastings

[C) Clive (D) Canning.

ureE # wym fafen meit SRE Wl g 7

(A sEETs B) @

© o (D) &

The British invasion of which area led to the Sepoy Mutiny ?

(A) Oudh (B Bengal

(C)  Mysore (D) Delhi.

o & o sints s & w0 fauet fage gan W 7

(A)  =Ey (B) ==

€ g (D) fewett |

On independence India became a dominion. In which year did the dominion status
end ?

[A) 1947 (B) 1948

i) 1949 (D) 1950,

T T AR O faea 99 T o | fravem s e e ad @ gen 2
@ 1947 (B) 19487%

[C) 1949%¥ (D) 19507¥ |

Who was the last quemnr—ﬁencra] of independent India ?

(&) Mountbatten (B] C. Rajagopalachari
(C) Sardar Patel . (D)  Jawaharlal Nehira.
A A F e mEe SeRe e 2

(A) TETZEZ (B) Hte TS
([C) TR v (D) “EmEEE FEw |

41|



UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011

JAGRAN

121. Who was the writer of Mahabharata ?
(A) Kalldas B Vedavyas
(©) Tulsidas (D) Kautilya.
TEIMAA ¥ oTEH Hi 4 ?
(a) =iferard B) =T
(C) e (D) wRifeed |
122. Who built the Red Fort ?
(A) Sher Shah (B) Humayun
(C) Akbar (D) Shah Jahan.
ara faren =1 Fmto feeaA fean @ ?
@ @TmE | T
© e D) vmEwEl |
123. Who was the first President of India ? )
{A) Dr. Rajendra Prasad (B) ~Dr.S. Radhakrishnan
{(C) Zakir Hussain (D) Jawaharlal Nehru.
T ¥ o gy WA A 2
@) Slo TR TEE (B) Efo UHo THIFMH
(C) T g (D) wEEETE AEE |
124. In whose memory was the Taj Mahal built ?
(A Noor Jehan (Bl Anarkali
(©) Mumtaz Mahal (D) Shah Jahan.
arermee =1 Fmin fFas grnr § e om o ?
W g B) e
(C) HHES HEE (D) TEwEl |
125. Which religion has 24 great teachers called Tirthankaras ?
(A) Hinduism B) Sikhism
{C) Jainism (D) Buddhism.
fopm wd § a3 T W 24 e aad € 7
W fegwd B Tawz ud
© o D) s ud |
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126,

127.

128.

129,

130.

Gautam Buddha preached his first sermon at
{A)  Prayag (B)
[C] .Gaya (D)
e g3 TEen wo=d 5 4

(A) wEmH (B)
(€ TH (D)
"Who was the last Mauryan ruler ?

(A) Bindusara (B)
() Devavarman (D)
sifan 9 w9 a1 2

@  fEgERr (B)
(C) eEeva (D)
Ancient Rome became a republic in

(A)  6th century BC (B)
[C)  lst century AD (D)
WA W wA TS g ?

() oo wd fudt od (B)
(€ 1w et (D)
The script of the Indus Valley Civilization is

[A) undeciphered (B)
(C) Persian (D)
ey w2t wvam =1 fafg #

(&) T ®)
(C)  HICH (D)
The Harappans did not know the use of

(&) Gold (B}
(C) Iron (D}
TEW F FHI WEI HTN TEF A 4

(&) HE (B)
(©) wrer = (D)

Lumbini
Sarmath.

giet §

gy oo

Chandragupta Maurya
Brihadratha.

=518 i
qE5Y |

3rd century BC
2nd century AD.

et wEt $wEt O
21 wEl =Et |

Sanslerit
Dravidian,

HEFA
wfag 1

Silver

Bronze.

=it =

a3 |



UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011

JAGRAN

131.

132,

133.

134.

135.

2 Josh
Which animal is the attraction in Kaziranga National Park, Assam ?
1A Rhinoceros (B) Lion
(C) Tiger (D) Bear.
STE & I A9 T W S A e ¥ 2
@) o= |
(cy == (D) =g |
Once a French colcny, which place is the home of Aurobindo Ashram ?
() Chennal (B) Andamans
(C) Pondicherry [.D] Goa.
= T W TR wEE w5 wE SuE ara swfaw snawm =t Hiaw ¥, B WE ?
(A e (B) =AM
(© wvEEd (D) T |
Bombay High refers to
(A) offshore oil fleld (B) onshore oil field
(C} offshore gas field (D) onshore gas field.
e BT wefdE ¥
(A) e O EA W B wEdl e 8 E
0 wvae fwa= 4 (D) e T A
Which of the following became the 26th State of India ?
{4) Uttaranchal B8 Jharkhand
) Goa (D) Chhattisgarh.
i & etTE T A A A WA R ?
@) FEtEe (B) FEETS
) T (D) THETG |
Which of the following rivers does not originate in India ?
[P\ Kawveri (B] Narmada
(€) Brahmaputra (D) Ganga.
forey & @ - A w1 I vea H ¥ 7
(&)  =TEA B)
(C) e (D) Tm o

44 |



UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011 JAGRAN

£ Josh
136. Which is India's longest river ?
(A) CGodavari (E3) Krishna
(C) Mahanadi () Ganga.
YR i gEaH T4 B ¥ ?
(ay  TrErEd ®) F=m
(Cy ErETTE (D) T o
137. What is the time difference between GMT and IST ?
(A) 4 hrs 30 min {B) 5 hrs 30 min
() 6 hrs (¥ 6 hrs 30 min.
WAfa= \iea Hg a9l 9iEg THY JH9E & s Jegiade o ¥ ?
() a4 30 fHae (B) 5w 30 =
(C) 6HE2 (D) 6He 30 fHT=
138. Which of the following geographical features is not found in India ?
(A) Lagoon (B) Glacier
(C) lceberg () Desert.
fret B B w4 st wrea § el ard e & 2
(a)  HYE O (B) fewa=t
(cy et (D) HEEEE |
139. How many oceans touch the Indian mainland ?
A) 0 (B} 1
() 2 (D) 3.
W T o e merarr e § 2
(A O (B) 1
c 2 (D) 3.
140. In which state is Silent Valley located ?
(A) . Maharashtra (I3} Kerala
(C) Uttarakhand (ID) Kamataka.
Higeive deil Tovm Toa 4 fem & 7
(A) HETE (B) HTa

(C) IOEv=E (D)  =FAl==F |
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141. Banana and pineapples are malinly grown in the

(&) Tropical region (B) 'Meditcrranean. region
{C) Mountains (D) Desert oases.
FATE ERGHR

T amzm: mm H @ AT A i

€ weTEl s A (o) wEEEL H | ?

142. Which is the group of languages spoken by the largest number of people in India

(A Indo-Aryan (B) Dravidian

{C) Austro-Asiatic (D) Sine-Tibetan.
ﬁﬁ!ﬁ%ﬁmmaﬂﬂmaﬂmﬁmﬁ afies @ wen € ?

() s e B) wEE

(€ - (D) < fermadt

143. Which of the following are twin cities 7

Mumbai and Pune
Hyderabad and Secunderabad.

eard e o
frene ad faweTes |

Jammu and Kashmir

ASSAIN.

e -FeEIE B
HEA Y |

20
28.

20

() Delhi and Faridabad (B)
() Bangalore and Mysore (D)
g FR e e ¥ 2
(a) Feeett au wEER (B)
() s e FET (D)
144, The largest amount of saffron comes from
() Uttar Pradesh B)
(C) Kerala 18}
d et wen H et fae @
) IEWRE R (B3)
© F@A (D)
145. How many languages arc accepled in the Constitution of India 7
(A 15 (B)
cy 22 (D)
WA 3 dfere g e wrd T € 7
(A) 15 (B)
icy 22 (D)

28.

46 |
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146. The path of a planet around the sun is called its
(2 revolution (Bl rotation
(C) orbit (D) spin.
o & =il s fEdl sume w1 Ant FEer ¢ TE
() afEEEm (B) ORwEm
() SRE (¥ SHEFT |
147. The celestial body nearest to the earth is
{A) Sun (B) MMoon
(C) Venus (D) Proxima Centauri.
it % Tl Freaw wiiel fave ¥
GV < (B) ===
) F (D) Wi FUERT |
148. The equator does not pass through
(A) North America (B) South America
(C) Africa - (D) any of these continents.
yHYE Y e e #
(A) I8 i H 8 e @) sfueft sfes |§ | g
(€ FfFw § 8§ B (D) T | T TF AEEY
149. Large salt water masses smaller than oceans are called
(A} lakes (B) islands
A seas (D) rivers.
HETATR & @2 gea sEvita Seera wwend ¥
VI ' ® 79,
() | (D) ==
150. An area drained by a river and its tributaries is called a
) basin B) canal
() dam D) strait.
fereht 7€) offt TWFH WES! B0 AUATE & HEerm ¥
(@ W R B) TEI

) =g D) TA=UE |
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Your guide to success

48 D]

INSTRUCTIONS / f+im
{ Read carcfully and comply /& H 7§ W7 w7 )
IMPORTANT /

1. In Seclion-il, candidate has to attempt the questions of Hindi language compulsonty and any of the two languages — English or |

Urdu as per his/her Application Form,
ae- &, vt o e e & W e FT R T e S e - i s W 9 9 Tl o T A AR W OF

FE o B
2 im Section-ill, it is compulsory to attempd the questiona of Secuion (lila] or Section [i![hl o8 selected subject in Lication Form
-0 1 e 2R AR UF H (Ma) 20 (k) % fre e o wem F o ¢ w6 fawa @ we h

3. The eandidate must ensure that the Question Booklet Ko, has been filled correcily ai the prescribed place in the OMR Answer Sheet.
serd] gfftem %1 FF o i o e wae o s wetn w o b

i, Read complete insiructions careiully and fill the details in the OMR Answer Sheet and 31. No. 1 1 5 in the Question Boaldet. If
yoau Tail te Gl the details and s:pn A8 instructed carrectly, you will be personally responsitle for the consequences arizing during
scanning of your OMR Answer Sheet. _ )

Tkt = f O R _q-gshron;ﬂzqqm:#ﬁmmqﬁam[ =) o w1 Tl 3y e e R wl @ pEnn
w7 £ ot omr TiE E© e B o ol & oA am ey |

2. OMR Answer Sheet No. should be writteh in the %c provided in the Question Booklet.
oMR Viiz T W e § 6w Fdfor wem o e aed afin

1, The Questicn Booklel comprises 45 pages hanng 150 questions. After being ingtructed Lo open the Boaklet onty, the cundidates will
open the Question Booklet seal, Check whether the Booklet cotaing 150 questions siarting from Page No. 2 o 46,

o g ag v v 150 W ) it i e o & aaoen @ we i o W e T g s o s g
150 WV § T TR O T 2 W wRen 6T 46 1§

o All gquestions are of MCQ (Multiple Cholce Guestions) type. There i only one COrTecs Answer to each question carmying one
miark. There will be 2o Wm-ﬁnlhl;nmvgmam . .
ot e gt e % 1 W e w1 0w faned ot a0 e e o Tl Faif o v b e e & B e ot oft find i

5. In any event of any mistake in any gquestion/s, candidates will not be penalized. However no corrections will be mede in

Hon L L4 L .
%‘&f‘m%%ﬁ% W#MMﬂgmﬂﬂM| ot ot sy & Wil Tt W W W A

6. Rough work, if any, may be donie in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off
from the gucmmn Booklet, Mo additisnal paper mng be nnm‘?%u . .
it T o T W A W G % s & s S o B g W 7 1 | G v o i T e T T A

7. Use of Log tables, Calculator, Skide rulbe, Mobile phone, Pager, Diglial digry o7 any other electromic item/matrament eic, in miot
allawed. Thelr use wll result in disguoalification.
ey dupm, TAE F, ST w, o, Fedes sEnt W e e wwn o grtegifae T o aw W wm At b sk
aeiey o it W e it fwsm o :

8. OMR Answer Sheet in triplicate will be provided separately along with the Question Booklet.

A W & a oMR Titz, e (R ¥ T e W we ot i '

g, Adfter Question Booklet is issued to the candidate, the candidate qiust 61l in all the entries in the Question Booklet and OMR
Answer Sheet, After the Question Booklet seal is opened by the idate, hefahe should ensure that any page/question is Tot
missing | net printed | torn [ repeated. In case you find any effwt anywhere in the Question Bocklet, immediately inform the
Inwigilater and get it replaced by the Invigilator, . )

v W fmtn B e o A, areeqt we qfere o oMR TR wE H wd ot & of w1 owe w1
W % Tr St T e A b e Rt et g § 0 Ow we g ko ol o b oo e A ¥
g AT 5 T k1 A g SRR A W gt o ok o e e A g s @ e i e

10, Write your Question Bookles Mo, Roll No., OME Angwer Shest No., Question Booklet Code. Name and put your Signature in the
space provided in the Question Booklel as well as i the OMR Answer Sheet,
mqéﬂﬂ'ﬂnmﬁﬁzuzﬁlﬁ“mﬂﬂ W i T, T AR, o YiT HEN, W TR FE, AW 2w R w6

11, With eech question you will find 4 possible answers marked by the kifers' A, 8,.C & D. Read each question carefully and find
sut whtieh anawer, according to you i& correet. Indicate your answer by darkening the appropriate circle compleiely in the OME
Answer Shect correspanding to the question. For marking answers use black ballpeint pen anly.

TR W T AR O A6, ¢ 3 0 1 B B e o e o o W S W v o T T R oMR T § aaem
I I e 3t v ) e = g s gl o e & F e e A e I

Correct method : | eopmect ( wit | Wrong methed | | wRONG / Trem WRONG / TFR WRONG / TTHA | | WRONG / TR

i e - QQOE|™ ™ |IXEOD| |Feoe| |e0CD| | 00D

12.  OMFR Answer Sheet is designed for computer cvaluation. I you do not fllew the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer diffcult. Any resultant boss to the candidate an the above account
shall be of the candidate onby. ) 5wt A
OMR T F FEEE T G, T a1 e S IR o oM 7z A R v FRRT 1 oOmE o F, T g o
W I A | Y e ) el W EH A e o et Te e

13 Mo candidste should leave the Examinntion Hall before the Anal bell, After completion of the examination the candidate xhould
hand over the whale sei of OMBR Answer Sheet along with the Question Booklet to the Invigitator. The Invigilator will hand
owar the last part of OME Answer Sheet along with the Question Booklet to the eandidate while loaring the Examination

all, .
:ﬁwﬂmﬂaﬁnﬁa‘lm% T W A T o e S e A s e e /i oMR TR E & wi i
e 1 i 9 e WA OMR TR TE w1 A e st wlEn ww e & e e i




